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= 9,500
= 2,850
= 6,650
12 JIEtE A= 19,000 19,000 0
O GAPRIES =D ot 2HAHH K&
250,000 x76AH 19,000
= 9,500
& 2,850
o 6,650
SHE SSHA = 35,000 35,000 0
201 LBt Y| 500 500 0
01 AP 22| d| 500 500 0
O sots SAX] ZELHE 2,500 * 2004 500
202 044l 4,000 4,000 0
01 2L Y| 4,000 4,000 0]
O sdt2 KFSHHA 25 4| 4,000,000 4,000
301 et A= 500 500 0
09 SHAIAHI X2 2 500 500 0
O AKX EASHS HO2AIR Adl 24
500,000& 500
307 2I2t0| A 30,000 30,000 0
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SN sAD
M a2 M4 - fERe
el Sa2 SEMH B8 (el mel)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 30,000 30,000 0
O XNE sSet2 82 0tHE N
60,000,000 *50% 30,000
dHALR F(=4]) 7,000 6,300 700
= 7,000
101 144 Hl 480 480 0
= 480
04 JIZHHZ2XREE S 480 480 0
O BAME THH oAl 80,000& x2H 32! 480
2 480
201 et 3,000 2,500 500
= 3,000
01 At 22l 3,000 2,500 500
O SSHI=0l HEAA HE, 223
3,000,000& 3,000
= 3,000
202 044l 3,520 3,320 200
= 3,520
01 = LH o4 1l 3,520 3,320 200
O 2R =20 3,520,000 3,520
= 3,520
S2HIF0I=R 200 IS A (=) 28,800 32,000 A 3,200
< 7,200
s 21,600
402 RI2HXt20l M 28,800 32,000 A 3,200
< 7,200
[ia 21,600
02 21t 2 AL EZ(OI XM TH ) 28,800 32,000 A 3,200
O &#1=2 HE=+ 4= %16,000,000& *40% 25,600
< 6,400
e 19,200
O EWNE X 422,000,000 *40% 3,200
< 800
s 2,400
s&2 NE8MED &X 150,000 150,000 0
402 RIZ2ERt20l ™ 150,000 150,000 0
01 RIZE X2 AL E = (REM &) 150,000 150,000 0
O s¢=2 282D X
6,000,000& * 50= * 50% 150,000
SASE Jt3ety g4s XA 15,000 15,000 0
402 RIZEX20| A 15,000 15,000 0
01 U2 EAILE X (KA ) 15,000 15,000 0
O sAS 34ty #4358 X
30,000,000 *50% 15,000
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HE: s
Sl s
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
GAPRIZ= =42 KIKAL(EHI) 6,150 2,700 3,450
== 1,538
= 4,612
301 et A= 6,150 2,700 3,450
o= 1,538
= 4,612
12 JIEtE A2 6,150 2,700 3,450
O GAPIES =42 X& 150,000& 4124 6,150
& 1,538
= 4,612
TVEALZ 2S5O XA (EH|) 10,000 20,000 A 10,000
& 5,000
= 5,000
307 giztol & 10,000 20,000 A 10,000
& 5,000
= 5,000
02 AI2tAAMAIE E =X 10,000 20,000 A 10,000
O TVEAT ST XJAAS 10,000,000& 10,000
= 5,000
= 5,000
NELX s CHZIH KAY 90,000 90,000 0
402 SI2vXHE0| & 90,000 90,000 0
01 QI EANS EXR (M) 90,000 90,000 0]
O DNEZX NEN THIH XNIAIS (MY
1) 90,000,000 *2J| *50% 90,000
B AXHEAlA (DSC) K& ALY (2H]) 560,000 1,440,000 A 880,000
= 210,000
& 42,000
= 308,000
402 SI2t 20| & 560,000 1,440,000 A 880,000
= 210,000
= 42,000
= 308,000
02 QX2 A E X (0| ETHS) 560,000 1,440,000 A\ 880,000
O H HEZXHEAIE(DSC) XI&AtH
700,000,000 *80% 560,000
= 210,000
o=} 42,000
= 308,000
WA A mZ S AN (R ) 18,000 18,000 0
307 QI2t0| & 18,000 18,000 0
02 QI2tAAMAIE E =X 18,000 18,000 0
O Zgd & o2sl XNFAY(ER £)
18,000,000 18,000




2N
X ZH -
L= B

el

O O OF

Nl
GHE At
st FSHA

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
a4 JtE ReCycling EHE A (Z/ZSTHE)(HEA 200,000 1,000,000 800,000
o)
< 100,000
[ia 100,000
402 RI2EXt20l ™ 200,000 1,000,000 A 800,000
< 100,000
e 100,000
02 RIZt X2 AL EZ (OIS ) 200,000 1,000,000 A800,000
O & JtZ8 MaH AIZAAE 4X 200,000,000 200,000
< 100,000
s 100,000
GAP = M RSAE X 5,000 30,000 A 25,000
402 RI2EXt20| ™ 5,000 30,000 225,000
01 2I2F 2 AL B (REMTH ) 5,000 30,000 A 25,000
O GAP S5 MXRSAE XA
10,000, 000& *50% 5,000
SSAE R0l 45 22k Bl =i 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 QB AAFEX 50,000 50,000 0
O sS¢= R0l &3 =2 =0 =0 X
A 50,000, 000& 24! x50% 50,000
sHe 28 ARMdMED A AL (<) 50,000 0 50,000
< 15,000
[ia 35,000
402 RI2FXt20l ™ 50,000 0 50,000
< 15,000
e 35,000
02 RIZE X2 AL EZ (OIS ) 50,000 0 50,000
O s¢eE ZgM2MED 8X(%Hl)
50,000, 000& *2& *50% 50,000
< 15,000
s 35,000
H24 S MEgs H2RH00 NFAS(013) 32,000 0 32,000
J| 19,200
e 12,800
307 glz2+ol & 32,000 0 32,000
J| 19,200
e 12,800
02 QIZtE M AHEE 32,000 0 32,000
O ozdl s Heggs 228200 N
32,000& x1,000H 32,000
J| 19,200
[ia 12,800
DSE A AHAME =T A 100,000 0 100,000
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2N
X ZH -
L= B

el

=
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2

100,000

100,000

.28ha* 140X CH+1,000&

A3

100,000

100,000

100,000

25,000

25,000

25,000

25,000

25,000,000&

25,000
25,000

25,000

UL

234,900

9,630
225,270

231,000

3,900

75,000

70,000

5,000

50,000

70,000

20,000

50,000,000&

50,000
50,000

70,000

A 20,000

25,000

25,000

25,000

25,000

25,000

M H

3,600

1,080
2,520

4,000

A 400

UL

3,600

1,080
2,520

4,000

A 400

EUNLY

3,600

3,600

1,080
2,520

4,000

A 400

130,000

130,000

130,000

130,000

EJH X&

JUEDNE

100, 000,000& *80%

100, 000,000& *50%

130,000

80,000

50,000

130,000

MO MK AL (=Hl)

EUNL

20,000

5,400
14,600

20,000

UL

20,000

5,400
14,600

20,000
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

02 HAFHANGEEX 20,000 20,000 0
O EXNASEUSHE T MEXJASG
5,000,000 «4 4 & 20,000

5,400
14,600

UL

SAMBEASHE NIHEH LA XA (<HI) 6,300 7,000 AT700

3,150
3,150

UNE

301 LetE2d = 6,300 7,000 AT700

3,150
3,150

Mo

12IIEtEa= 6,300 7,000 AT700
O EXNASEUSHE NIHSE S A X
900,000& »7H & 6,300

3,150
3,150

UL

=0 - =85S WE=A & 555,860 597,512 A41,652
138,965
416,895

EUNL

stusal X& 555,860 597,512 A41,652

138,965
416,895

UL

ME AMES XA (EH) 475,591 514,012 A 38,421

118,898
356,693

UL

308 XXM S0l ™ 475,591 514,012 A 38,421

118,898
356,693

EUNE

08 Il 20Ut E=x 475,591 514,012 A38,421
ITHE X2 A
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118,898
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0
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O
z
Ho
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3,375
125
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H
o

I
El
i
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Al Non-GMO AlTHE XI& (&HI) 66,769 70,000 A 3,231
16,692
50,077

M
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2N

X{ XH -
S =

H2IZ I (=40
S I
5 - 4
A FB B (B) - HRAY - BES e
O Sl 5,500,000& 5,500
202 044l 11,000 11,000
01 = LH 4 1l 11,000 11,000
O gRF& ol 11,000, 000& 11,000
[23HI/RAWSEH 14,900 14,900
201 Let249] 8,900 8,900
01 At 2teltl 8,900 8,900
O L=t 3,000,000& 3,000
O 2&+4(=s 1,400,000& 1,400
O =&l 4,500,000& 4,500
202 Oddl 6,000 6,000
01 = LH 4 bl 6,000 6,000
O gf=& ot 6,000,000& 6,000
|23t /sAERS 19,080 19,080
201 L2l 15,080 15,080
01 At 22l 15,080 15,080
O Ler29H| 12,000, 000& 12,000
O =&l 3,080,000& 3,080
202 O4dl 4,000 4,000
01 = LH o4 Hi 4,000 4,000
O sASRsS 2= 4,000,000& 4,000
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